Reference

K9850D

Assembly instructions

Nomenclatures
Kit Manhole cover locking kit
Piece Support & Cam M8 set screw M8 nut Drilling template
Quantity x1 X2 X2 x1
Visual K [_(; @\ ]
element J |

Universal manhole cover kit - Assembly steps

1. Position the drilling tem-

plate on the manhole cover
and mark the location of the
holes

\ |
M "y

2. Drill the holes. The ones at
the ends are to be drilled at
@8mm and the central one at
@14mm

3. Position the M8 set screws
in the @8mm holes

4. Adjust the positioning of the
kit so that the screw is cen-
tered. Check from above that
the screw is well positioned

5. Tighten the M8 nuts and
double-check the alignment
when installing them.

6. Grind the concrete under
the frame so that the cam can
rotate

N

cism RCS Clermont-Ferrand B 450 216 775

84, rue Pierre Estienne - 63000 Clermont-Ferrand
Tél : +33 (0)4 73 74 60 65 - E-mail :

contact@cism.fr

w.cism.fr



